MATCH 3 TRIPLER

PA-1256 ON SALE NOW

LOTTERY
REVEAL THREE IDENTICAL NUMBERS IN THE 4

P SAME ROW, COLUMN OR DIAGONAL, WIN
(M PRIZE SHOWN IN THE PRIZE
3] BOX FOR THAT GAME. CHANCES ARE CONSOLIDATED
WIN WITH: WIN: 11N: CHANCES ARE 1 IN:
A $3 $3 9.09 $3=9.09
S BE $5 1250 $5=12.50
23 3X 29 200.00
g o smoas Do s
gs x2 glo 1,000 T
P KU 10 1,000 $10 = 500.00
$5x3 $15 1,000
0 zs w/ gl 5 200.00
S?r:" / THREE 3 SYMBOLS S}E 1?0683 $15 = 58.82
) $15 x gso 1,000 o
ll Bi0x2)+55x2) 30 1,000
AR B
W 7
P éég w/ THREE 3 SYMBOLS ggg }888 $30 = 166.67
L 215 x2) +($10x 2) gso 12,000 B
10w/ 3X) +(510x 2) 50 6,000
[l (35 w/ 3K) x 3) + 95 $50 6,000
(ss w/ THREE 3 SYMBOLS) x 3) + $5 ggg I;ggg 65021333
A $l 5 x4 $60 2,400 o
§ $30x 2 gbo 2,400
B0 2 260 200
E slo w/ THREE 3 SYMBOLS) x 2 ggg “gg 560227907
~) % = .
(] $30x3 $90 12,000
Slsw 3051 200 12,000
0 SIO W THREE 3 SYMBOLS) x 3 $90 3,000
) 30 w/ THREE 3 SYMBOLS ggg I%ggg $90 = 705.88
1 $ 30 x2 $100 12,000 T
(230 W/ 3%) + $10 gloo 12,000
AR T S,
P $10 gsoo 120,000 o
L 590 w// 3X) +($10 x 3) Sggg }%gggg
E gsso w/ THREE 3 SYMBOLS) x 2 gsoo 120,000
300 "/ THREE 3 SYMEOLS Sggg }%8888 $300 = 20,000
A (s3oo x 3) +$100 1,000 120,000 o
§ ({5100 w/ 3X) x 3) +$10 1,000 120,000
0" TR STHBOLS) ) 510 21'000 120000 $1,000 = 30,000
(3 21000 w/ 3x 3,000 840,000 S
S;ggg w/ THREE 3 SYMBOLS Sgggg gﬁgggg $3,000 = 280,000
P 75,000 §7s 000 840,000 $75,000 = 340,000
o REVEAL THREE ”@” (THREE) SYMBOLS IN THE SAME ROW, COLUMN OR OVERALL CHANCES
s DIAGONAL, TRIPLE THE PRIZE SHOWN IN THE PRIZE BOX FOR THAT GAME. OF WINNING 'I ill 4 06
REVEAL A “££3” (3TIMES) SYMBOL IN ANY GAME, TRIPLE THE PRIZE Prizes, including top prizes, are subject to
T SHOWN FOR THAT GAME AUTOMATICALLY! “Vﬂ“ﬂhl'“Y at the time of purchase.

EACH GAME IS PLAYED SEPARATELY.




